Problem Set 9 (PS9) due
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BY INSPECTION
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()T = f(d,N,V,p)
Rank of matrix is 3. Number of
I1- product =5-3 =2.
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(c)Power = thrust x velocity
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()T = f(D,k,V, p,w)

Rank of matrix is 3. Number of
I1- product =6-3=3.

(b)By inspection:
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Then use data to form nondimensional groups:
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The principal effects of roughness seem to be to decrease the lift
coefficient at high spin rates. Note also the negative lift coefficients
at low spin rates. This spin resersal is seem in experiments but it is
not well understood. It seems likely to be a low Reynolds number
phenomenon. We have not considered Reynolds number in plotting

these data, so that these effects are not known from this data.



